N = 0l & AF & F Al A
200908 &= =04 =S 0HIIS2IEES A

SN ASI= R D
HE: J|ZMESE (NS ZMBDH)

S HASSOEZ0XR(ABZ0ISSASLES) (S5 & 2)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
A= X1 2t 356, 764,000 380, 139,000 23,375,000
= 285,241,610
= 71,522,390
IIEMEBH(MSIZX /I ZHSST) 356, 764,000 380, 139,000 23,375,000
= 285,241,610
= 71,522,390
HASEC230NA(A2Z0IIZ2YSEE) 356,764,000 380, 139,000 23,375,000
= 285,241,610
= 71,522,390
EEELRERECE: 348,979,000 375,298,825 £26,319,825
= 279,013,610
= 69,965,390
307 eI2t0|H 348,979,000 375,298,825 £26,319,825
= 279,013,610
= 69,965,390
05 LISIE3 348,979,000 375,298,825 26,319,825
BEEEGEEL] 346,355, 400
2 276,914,730
= 69,440,670
OALMSRNHIAS(AZI RS E) 2,450,000
2 1,960,000
= 490,000
mEE e 73,600
2 138,830
= 34,720
2RI UTB MM LLE 1,200,000 1,100,000 100,000
=2 960, 000
= 240,000
201 L2yl 1,200,000 1,100,000 100,000
= 960, 000
= 240,000
01 At 22l 1,200,000 1,100,000 100,000
WEETR=Y] 1,200,000
OClR2OFRHIMAIIS 222 1,200,000
2 960,000




2AM: AtRIS X0
HME: J|ZMESE (NS ZMBDH)
(@]

el HASZIRZNHNA(A2I0IS2ASEIIH) (9l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2

< 240,000

2 ZOI AN DS HOILIZASS 25,000 20,000 5,000
= 20,000
= 5,000

307 SI2t0IH 25,000 20,000 5,000
= 20,000
= 5,000

05 SIIErz 25,000 20,000 5,000
BEEEIEY POnEYIINEE 25,000
= 20,000
< 5,000

ANzZoz20l2ey 400,000 300,000 100,000
= 320,000
= 80,000

308 RHXISHHISOIA 400,000 300,000 100,000
= 320,000
= 80,000

01 RXNSHBS2ES 400,000 300,000 100,000
OAReIEZ0II22Y 400,000
= 320,000
< 80,000

R BRI 60,000 50,000 10,000
= 48,000
= 12,000

308 RHXISHAISOIA 60,000 50,000 10,000
= 48,000
= 12,000

01 MXESHINBES 60,000 50,000 10,000
sEEERIEES 60,000
= 48,000
< 12,000

SEEVRELEE 4,950,000 2,500,000 2,450,000
= 3,960,000
= 990,000

308 RHXISHAISOIA 4,950,000 2,500,000 2,450,000




SHT AEI=T
HME: J|ZMESE (NS ZMBDH)
(@]

©ol: HASSRZHNA(AZS0ISSSSH3IH) (crel: &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ

308 XiXIEHHISOIH = 3,960,000
= 990, 000

01 KXSHBASES 4,950,000 2,500,000 2,450,000
BEEEREREE 2,500,000
= 2,000,000
< 500,000
DAL MSRN Y (FSROIAS 2200 83) 2,450,000
= 1,960,000
< 490,000

AEZ 0 22lAY 1,110,000 840,000 270,000
= 888,000
= 222,000

308 XXIEHHISOIH 1,110,000 840,000 270,000
= 888,000
< 222,000

01 KXSHHBABES 1,110,000 840,000 270,000
Clol220i 22l At 1,110,000
= 888,000
< 222,000

HASEORZ0IALEE 40,000 30,175 9,825
= 32,000
= 8,000

201 Yer2y| 5,000 0 5,000
= 4,000
< 1,000

01 Ate2rel| 5,000 0 5,000
Ol et 5,000
= 4,000
= 1,000

202 OfHl 35,000 30,175 4,825
= 28,000
= 7,000

01 =LHoiH 35,000 30,175 4,825
BEEENIG= IR T 35,000
= 28,000




2AM: AtRIS X0
M3 | ZMED(NEST I ENBTE)
el HASSASSHAZ(AESHII=2ESLESA (o=
=] X EH . CLO (5 HALO . HA D A} OH &EIE 5 =02
— T

i

7,000




